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Topic:- General Knowledge and Logical Knowledge

1) Which of the following is NOT a capital of any State in India? Aok b kack: | e HIRA & fopell
TR B ST T8 82

1. Allahabad / gcilgldliq
2. Ranchi/ TIEﬁ

3. Raipur / JTIYX
4, Dehradun / ésilg:l

Correct Answer :-

e Allahabad / Sdlgldliq

2) Which country won the Women's Asian Champions Trophy Hockey tournament in 2016? / 2016 H

wfger vRrrs A= giwl gt gafi= fa 3= A s
1. China /I
2. India / HRd

3. Japan / SITUTH
4. Korea / BIRAT

Correct Answer :-

e India/ HRd

3) Which medal did Ajay Singh win in the Asian Youth and Junior Weightlifting Championships held in

July, 20172 / TS 2017 W MANToTd TRRATE gaT td FfaR RN ufaaifiar § s Rig A o
T UG SitaT YT?

1. Silver / ¥9Id



2. Gold / &qU

3. No medal /ﬁs‘wqﬁ
4, Bronze /W

Correct Answer :-

 Bronze / B

4) Kundhei, Gombeyatta, and Bommalattam are forms of which of the following arts? /?ﬂé, Tﬁ'qa'qET

v dTaeH fRufafad # Q fod sa1 & ueR 82
1. Folk Dance /WW
2. Folk Theatre / NICRURIN]

3. Folk Stories /F‘h$ $’¢ITQ
4. Puppeteering / Wﬁﬂ?ﬁ RESIEAN

Correct Answer :-

» Puppeteering / W?ﬂ HIRIT

5) Arya Samaj was established in / 3 THTS BT TITYAT Y 53‘ i B
1. 1875

2. 1881

3. 1872

4. 1880

Correct Answer :-

e 1875

6) India’s largest museum is located at / HIRd P aA 95T GUSTAY Tgl (U 3:
1. Kolkata / BIABTdT

2. Chennai / %ﬂé

3. Bengaluru / W
4. Delhi / feeedt

Correct Answer :-



« Kolkata / BIABTAT

7) Chief minister of Madhya Pradesh during 1977-78 and a member of the BJP was / 1977-78 F IR

Y USR & GRIHAT g YTSTUT & He
1. Ram Vilas Paswan / X9 faelry ORya

2. A B Vajpayee / T ot grerudt

3. Kailash Chandra Joshi / @<l EERSIR

4. Digvijaya Singh / fefigora Rig

Correct Answer :-

« Kailash Chandra Joshi / a2l 9% St

8) In which district of Madhya Pradesh is the Gun Carriage Factory located? / H& TI%QT ¥ fPafoad

TR FREAT RG22
1. Barwani/W’I:ﬁ
2. Gwalior / TaTIeRIR

3. Jabalpur / S¢TYR
4. Bhopal / T

Correct Answer :-

o Jabalpur / Se[c{YR

9) From which facility was Mangalyaan launched? / §3TerTH &1 e fFa = I 'g"é' Ui

A0

1. Thumba Equatorial Rocket Launching Station, Thiruvananthapuram / Yl $&>CIIQ¢JC1 JIdhe A= 3&7&,

2. ISRO Satellite Centre, Bengaluru / m P W, W

3. Satish Dhawan Space Centre, Sriharikota / AT ¢a siane W, 3“3 EAr
4. Laboratory for Electro-Optics Systems, Bengaluru / ﬁ’g’{qﬂ UhHTIRIeh! o= TANTRIT], W

Correct Answer :-

» Satish Dhawan Space Centre, Sriharikota /ﬂ?ﬁsﬂ gdq 34?[&&‘[ W, %ﬂ%ﬁ?ﬂa

10) Who is the current speaker of Lok Sabha? / WBIHT P TaHH A& Cac| %?



1. Sumitra Mahajan / ﬁ&ﬁﬂ Helol+
2. Meira Kumar / §RT $UR
3. Somnath Chatterjee / TIHTY TSt

4. Sushma Swaraj / UHT AR

Correct Answer :-

» Sumitra Mahajan / ﬁ&l_?ﬂ HelolHd

11) Who proposed the “‘Wardha’ scheme of Basic Education ? / Tt qda g gy <qyt> &
wRefad foar ur?

1. S.N. Banerjee / TH.UH. el
2. Vinoba Bhave / faIaT HTd
3. Mahatma Gandhi / H&TET TTieht

4. Lala Lajpat Rai / ITeTl <flsTUd 19

Correct Answer :-

« Mahatma Gandhi / AGTEHT Tieh

12) Which major river flows between the Vindhya and the Satpura Mountain ranges? /ﬁ'a?ITQH HdYRT

Tdd gae & i P- vE T ggdt 82
1. Narmada / THaT

2. Ken / b+

3. Tapti / ATl

4. Sons /G

Correct Answer :-

e Narmada /:ﬂ:\-ET

13) Who is the founder of 'Bachpan Bachao Andolan'? / I T30 GITG-']?I""T’ %Wﬁq%?
1. Medha Patkar/ﬁ?ﬂw

2. Kailash Satyarthi /%mwsz

3. Kranti Shah /?Jh‘i?ﬁ?l'l_s'

4. Shantha Sinha / 2I7dI g1



Correct Answer :-

 Kailash Satyarthi /Wwﬁ

14) Which sacred town is nestled in Northern Vindhyas? / ﬁ'&ﬁwﬁwvﬁawﬁﬁmév
1. Ujjain / =1

2. Chitrakoot / %ﬁl@
3. Sanchi /i:l'i?ﬂ

4. Shivpuri / W
Correct Answer :-

e Chitrakoot / %ﬁl@

15) Omkareshwar temple is located on the banks on river. / 3THBRIAT 'Fi'ﬁ?, =rc.‘°r$ ddcWR
REgl

1. Narmada / THaI
2. Tapthi/ 1]

3. Gomathi / T
4. Triveni / Bauft

Correct Answer :-

e Narmada/ :Iﬂa

16) Which of the following is NOT a World Heritage Site? / fafafead a ﬁqmﬁq’&s g =« q'&ﬂ
e

1. Pench National Park/ﬂ?ﬂ@q?@'ﬂ

2. Keoladeo National Park / ddIcd T@T{ RIS
3. Kaziranga National Park / CARIRLI W@HW

4. Kanchenjunga National Park / hadord 21@?1 3l

Correct Answer :-

e Pench National Park/ﬁ?ﬂ@’qm



Which of the following States has been ranked as the most farmer-friendly State by the NITI Aayog? /:nﬁ

AT gRT fFraferfaa ue=n A & fora wexr 1 foraml & fore waifRe srgea wext &1 gt fear mare
1. Rajasthan / XTSRRI

2. Madhya Pradesh /q?ﬂm

3. Maharashtra / HERTY
4, Punjab/tiTﬂ'ITqr

Correct Answer :-

* Maharashtra / HeIRTY

18) Kakrapar Atomic Power Station is located in / PTHIIYIR YIATY] uf = - Ry % |

1. Tamil Nadu / aiﬁa:llg

2. Gujarat / I[oIRId
3. Madhya Pradesh /me

4, Uttarakhand / 37X ge

Correct Answer :-

e Guijarat / oRId

19) Which State created history by winning the Ranji Trophy for the first time in 2017? / 2017 A fory I5g

= YT ETW! SitadR gfdgrT T
1. Jharkhand / IRTS

2. Gujarat / 1[oIRId
3. Kerala /W

4, Assam / 3HH

Correct Answer :-

e Guijarat / oRId

20) Which Indian Badminton player has been named the Member of the 10C Athlete's Commission? / g

YR Sefticd fAaardt &1 ems 3=t vyeiie smanT &1 aew Aifid frar man g2
1. Srikanth Kidambi / ftepid fd st
2. Prakash Padukone/ww



3. PV Sindhu / UT.dt Ry
4, Saina Nehwal /mm

Correct Answer :-

e Saina Nehwal /Wﬁm

21) Select the option that is true about the Statements and Conclusions given:

Statements:

Mango is sweet

All fruits are sweet
Conclusions:

I. Mango is a fruit

I1. All sweets are fruits

1 39 ey 31 Tg+1 PIoE Sife 2T e Hu=T iR eyl & 9 A Il 8:
DY:

M HeTe

I pa HiS &

ﬁl’ﬁﬂf:

LM TS BA g

1L gt i3 S v &

1. both conclusion I and II follows /ﬁEFGfI R 11 ?ﬁ:ﬁ STTORUT HIA %
2. neither conclusion I nor conclusion II follows / 7 BT fAspy 1 3R T Bl ey 11 SR Hd %

3. only conclusion I follows / Had F=py I STTARUT HIdT %‘
4. only conclusion II follows / Had ey 11 S{FHRUT Dl %’

Correct Answer :-

« neither conclusion I nor conclusion II follows / 7 81 fAspy 1 3R T Bl sy 11 SR Hd %

22) Select the option that is true about the Statements and Conclusions given:
Statements:

All policies are laws

No law is a rule

Conclusions:

I. No policy is a rule

II. No rule is law

/ 39 fapey &1 99+ Fioe Sife A 7T Hy=Y 3i freeul & IR d Ol 8:
DY:
Tl Afaai A &

P BT Fraa g @
e



1. 318 Aifa e a8 8
1. 1S Faa S T8 R

1. both conclusion I and II follows /ﬁ'ﬁﬂh 3R 11 gt STTURUT %
2. neither conclusion I nor conclusion II follows / _6‘1' ﬁﬁb'ﬁf I 3‘ﬁT Cl ﬁ ﬁ'&b‘ﬁf II GWT W %

3. only conclusion I follows / Had =pY I ST HIdT %

4. only conclusion II follows / Had sy 11 ST HIdT %

Correct Answer :-

« both conclusion I and II follows /ﬁW‘SfI SR 11 ?fl:ﬁ S{TERUT A %

23) Select the option that is true about the Statements and Conclusions given:
Statements:

All beaches are beautiful

Colva is a beach

Conclusions:

I. Colva is beautiful

I1. Parks are not beautiful

1 349 APy &1 99 Fifore s e e Hy=T o fAswpul & IR A 98l 8:

DHY:

AW gHEde G &

el U HHEAT o

e

1. Pleal a3 8

1. UTdh R gt &

1. both conclusion T and 1T follows / RS I TR 1T G} R0 X &

2. neither conclusion I nor conclusion II follows / = é)[ fspy | S‘ﬁ? Cl Eﬁ fpy 11 SR GG %’
3. only conclusion II follows / Had (s 11 STFIRUT HdT %

4. only conclusion I follows / Had sy | ST Hdl %

Correct Answer :-

 only conclusion I follows / Had sy | ST Dl %

24) Tanmay started from his house and went 2 km straight. He then turned towards his right and went 1
km. He turned again towards his right and went 1 km. If Tanmay is north-west from his house, then in

which direction did he go in the beginning? / d-HY 3T TR & fpa o 2 fordd). W€ mam fbr a5 o=
1S 3R a1 3R 1 fre. mam| a8 fibr arg ok geow 1 forel. | afe 33 9w 9= 3rvm =R | S&i-
ufym o B, dt a8 Sy # 5w fozm & war ure

1. west / Of3#



2. south — cast / GI&U1-Jd
3. south / f&OT
4. north — east / 3&’1?—‘13‘

Correct Answer :-

.« west/Of&H

25) In the following question, some group of letters is given, all of which, except one, share a common
similarity while one is different.
Choose the odd one out:

/Frauy # 31l & oo I9E T T €, i @ te ) Sisar A 3 te JHHdar veflfa sed € sefe
TP 3 T B

% faum gra Ffore:
1. QOM

2. IKG

3. RTW

4. IKM

Correct Answer :-

e RTW

26) Find the odd one out: / U fquH J1d SHIfeTC:

115, 113, 110, 103, 98, 87, 74
1. 98

2.103

3. 113

4. 110

Correct Answer :-

27) Complete the series choosing the missing number: / T IWAT TAB YT Bt GRT HIOIC:

1, 6,15, , 45, 66, 91



1. 28
2.26
3.27

4. 25

Correct Answer :-

e 28

28) Complete the series choosing the missing number: / & &I ABR YEAT BT [T HHOIC:
2, 5,8, 14,17

1. 12

2.10

3. 11

4.9

Correct Answer :-

29) Complete the series choosing the missing number: / T JBAT TAB YT BT GRT HIOIC:
3,7,15,31,

1. 63

2. 62

3. 60

4. 65

Correct Answer :-

30) The series given below contains a sequence of numbers. Identify the incorrect

combination: / T & 7 e §, TEASH BT TP HH IUFRIG &1 TAd Ao YA
4,6,8,9,10,11,12
1. 12

2.10



3. 11

4.8

Correct Answer :-

e 11

31) The series given below contains a sequence of numbers. Identify the incorrect

combination: / T & ¥ e #, W HT UH HH IUMRG T | TAd HAeH UgAIAe:
5,10, 19, 26, 37

1. 37

2.26

3.5

4. 19

Correct Answer :-

19

32) Complete the series choosing the missing letter/s: / &l &R/ AERT B EGEZELERI Ca| Ul Piforg
abc _ d _bc_d_b_ cda

1.d,e,c,b,d

2.d,a,c,a,b

3.c,d,a, b, e

4.b,a,c,d, e

Correct Answer :-

33) Select the option that is true about the Statements and Conclusions given:
Statements:

Some pastes are creams

Lime is a paste

Conclusions:

I. Some creams are pastes

I1. Some creams are not pastes



/ 39 fawey &1 99 Hifore sife fAT T wyAT 3R syl & a° | sl 8:
DY:

PO N BT

TNTH T §

ﬁ'ﬁﬂf:

LPOHHRTE

LS PHIE T T

1. both conclusion I and II follows /ﬁEFGfI R 11 @:ﬁ STTORUT HIA %

2. neither conclusion I nor conclusion 11 follows /1 81 &R Y [ 3R 7 g} Fsmef 11 3F7TRUr 5%l §
3. only conclusion I follows / Had F=py I STTARUT HIdT %‘

4. only conclusion II follows / Had ey 11 S{FHRUT Dl %’

Correct Answer :-

« only conclusion I follows / FHad =py I ST HIdT %

34) 836-246/829$66-234/13 =881

$ is equivalent to? / $ fras qHdd 8?

4./

Correct Answer :-

35) If COLLEGE is coded BNKKDFD, then how is SCHOOL coded? / Ufé COLLEGE &) BNKKDFD &

Hifsd foran Sirar 3, 9 scHooL &Y 4 wifea far smam?
1. RDGNNK
2. RBHNNK
3. TBGNNK

4. RBGNNK

Correct Answer :-

« RBGNNK



36) Two dice are thrown simultaneously. The probability of getting a sum of at most 5 is / E’f Ui

TP A1y b M| Gt & 3RGaH 5 BT R 34 H1 GHTET - :

i
1. 18
5
2. 4
1
3. 9
i
4, 12

Correct Answer :-

37) In a certain code language, new age school means kom fedal fena, old age company means
sena fena zena, top business schoo/ means kom pom dom. Which is the word for fedal/in that code
language? / Th WY HIS HTIT ff, new age school &1 31 kom fedal fena; old age company &1 3ref

sena fena zena dYUl1 top business school T 3 f kom pom dom E-HT % 19 IS VT H fedal b ﬁl’G
5 31eq &1 S¥duTa f3am T 82

1. school
2. old
3. new

4. company

Correct Answer :-

38) In a certain code language, Zun Tun Lun means Air has smell, Pan Shao Tei means Raman is
smart, and Shao Res Tun means Air is pure, Jut Caz Lim means Don't believe it. Which is the word for
Airin that code language? / T WH PIS YT ﬁ, Zun Tun Lun &1 A4 Air has smell;, Pan Shao Tei
&1 A Raman is smart, Shao Res Tun T 3 f Air is pureddl Jut Caz Lim PT 3 & Don't believe itﬁ'cIT

B1 39 IS U H 4ir P T frd 2reg &1 sTwTa forar T 82
1. Shao

2. Lun



3. Tun

4. Zun

Correct Answer :-

o Tun

39) If NESTis coded MCPP, then how is QUICK coded? / Tfé NEST B mMcPPA HIfSd forar STaT §,
@ qurck H HA FHISa frar wrAm?

1. PSFYF
2. KIQUC
3. TWKEM

4. RVJDL

Correct Answer :-
e PSFYF

40) If MARKET s coded PEOGHX, then how is FLOWERS coded? | Gf& MARKET &) PEOGHX A

Fifsd forar orar 8, 9 FLOWERS F A IS farar wrwm?
1. IPLSHVP
2. IPLSGVP
3. IPLTHUP

4. IPNTHVP

Correct Answer :-

o IPLSHVP

Topic:- Mental Ability and Mental Aptitude

1)



In the sequence shown below, which figure comes next? / #irer @& I/ &a H, e

1

N 4
b

(N
TV

4.

Correct Answer :-

D
Yoy



If the following two squares shown below overlap, which one of the following options

is formed? / afg e & @9t #faewfag gid &, df e & & =la a1 vF fGweq a=ar g7
2 9 2 9

<. C

3)



In the sequence shown below, which figure comes next? / & & & &8 &, 3Telr
3Thfd @i d 37

|, o

L

|
O

Correct Answer :-

4) How much of pure alcohol has to be added to 500 ml of a solution that contains 10% alcohol in order
to change the concentration of alcohol in the mixture of 20%? / TP fAryor & 20% o \?rlﬁﬁ??l' CARIETI
DI daq & T 10% Srehigd aTd TP faeraq & so0 frefieiiex | faan s sredpied faamar s
Bl

1. 60 ml / 60 Torett

2. 62.5 ml/62.5 e



3. 45.5 ml /45.5 Torelt

4. 50 ml / 50 forctt

Correct Answer :-

e 62.5ml/62.5 foar

5) The price of a vegetable increases by 30 %. If the expenditure has to be maintained at the original
level, then the reduction in consumption in percentage has to be: / T Teoll Bt DA 30% qD dg STt
21 9fe 0 &1 Ia WX W 9911 3G 8, 91 Gud | S @1 gfa=raar fe gt e

1.40.5 %
2.23.0%
3.38.5%

4.42.5%

Correct Answer :-
e 23.0%

6) A shopkeeper allows a discount of 15% to his customers. If the cost price of an article is Rs. 600 and
he intends to make a profit of 70% on his outlay, what should be the marked price of the article? / Th

PTG U ATEHI Bl 15% B e T 8| afe faredt avg ot anTd g7 600 ¥ 8 3R a8 70% & A1y
& ILRT W IR G Hd1 3, ¥ b1 3ifhd You o1 BT A1iey?

1. Rs. 1020/ 1020 ¥UU
2. Rs. 1100/ 1100 YUY
3. Rs. 1200/ 1200 ©UU

4. Rs. 900 /900 ¥UUY

Correct Answer :-
e Rs. 1200/ 1200 YU

7) A man sells a car to his friend at the loss of 10 %; who in return sells it for Rs. 54000 making a profit
of 20 %. What was the initial value of the car? / Udh GI'IETﬁ 10% Bt BT&I W 3 aﬁ Cal Th HIR
ATET B; O T5A | 20% BT ATH UM & 1T 3 54000 U H 991 T 3 | PR BT URTHE Yo T
Yr?

1. Rs. 50,000 / 50,000 24U

2. Rs. 25,000/ 25,000 ¥UU



3. Rs. 37,500/ 37,500 ¥UU

4. Rs. 60,000 / 60,000 ¥UUY

Correct Answer :-

« Rs. 50,000 /50,000 24U

8) A tap can fill a tank in 8 hrs. After half the tank is filled, three more similar taps are opened. What is
the total time taken to fill the tank completely? / b ¢l 8 e | Udh & B YR ghdT %’I 3TYT TP WA
& T1¢, I 3R JHH ¢ T feu 9I1d 81 ¢ 3l Tt e | WA & o o awa | g2

1. 6 hrs / 6 ©¢
2.5hrs/5€i%
3.3 hrs /3 °c¢

4.4hrs/4Ei%

Correct Answer :-

. Shrs/S‘EI%

9) The ratio between the present ages of P and Q is 5 : 7 respectively. If the difference between Q's
present age and P's age after 6 years is 2, what is the total of P's and Q's present age? / P T Q P adH=
3TY BT IUTd HHRT: 5 : 7 31 TS Q B} TAH 3T TUT P F} 6 a9 TG Y 3TY BT 3R 2 8, @ P qYUT
Q B! FA TAHT 3T FT 82

1.24 years/24a'5f
2. 12 years / 1239
3. 48 years / 48 Y

4. 36 years / 36 Gl

Correct Answer :-

e 48 years /48 Gl

10) Ifx + 1/x =5, then find the value of x% + 1/x2. /qﬁx +1/x=5 %,?ﬁx2+ l/xzﬁﬂﬂﬂﬁﬁl
1.24
2.23
3.20

4. 19



Correct Answer :-

e 23

11) Average of 10 number is 50. If one number is excluded, then the average declines by 1. What will be

the number that is excluded? / 10 mﬁﬁﬂﬁﬁﬂﬁm%l tr%wawﬁmaé’rm,a‘rsﬁ'aﬁﬁ 1
®1 Bl 8 oIt B 1 FRrepTelt it e @ gt

1. 40
2.59
3. 66

4.75

Correct Answer :-

12) A thief steals a car at 10 a.m. and drives it at 60 kmph. The theft is discovered at 11 a.m. and the
owner sets off immediately in another car at 75 kmph. When will he be able to catch up with the thief? /

TSP TR YUTd: 10 F91 Th PR gRIT 8 3R 39 60 fre ufa 62 &Y e & =etrar 31 99 &1 e wrd: 1
ﬁm%;mm%gﬁw%ﬁuﬁrﬂ%aﬁmﬁwﬁmﬁmﬁm%la‘s'iﬁ?ﬁuﬁﬁ |
S Y&H g

1. 1:00 pm/ 1:00 3URTa
2. 12:00 noon/a'q—s'? 12:00
3. 3:00 pm / 3:00 W@

4, 2:45 pm / 2:45 U@
Correct Answer :-
e 3:00 pm/ 3:00 WRTa

13) If the sum of square of the age of a person today, after one year and after two years is equal to 2030.

Find the present age of the person./u%ww%raﬂaﬁqmaﬁ,waﬁmaﬂ ﬁﬁﬁmﬁm
& I BT TART 2030 & TR ¢ | A AT Y adw= MY 719 B

1.23
2.27
3.25

4. 30



Correct Answer :-
e 25

14) If the product of three numbers is 30,870 and the numbers are in the ratio 2 : 5 : 9, then the largest
of them is / af¢ T TBATSHT HT TUFTHE 30,870 B, TUTHWATY 2 : 5 : 9 P IFUTT A B, Y ITH QA
ISt HE §:

1.7
2. 14
3.63

4. 35

Correct Answer :-

15) Mr. Raghu age is one-third of his eldest sister's age today, but it will be half her age after five years
from today. What is the age of Mr. Raghu's sister? / 3{Tol it Y P 3Y 3P I a@ 61 I U BT
% fagTs 8, Afe ome & uia af a1 98 S99t 39 @1 el gt et | R g Pt aga sty wRIL?

1. 15 years/ 15 Gl
2. 25 years / 25 Gl
3. 20 years / 20 Gl

4. 10 years / 10 CL

Correct Answer :-
e 15years/ 15 Gl

16) Jason Clive sold two of his racehorses for USD 9,975 each. In selling one, he had made a profit of
5%, but he had incurred 5% loss in selling the other. Overall, how much profit or loss did he make? /

S TS A 9, 975 SANDT SR A U 3 SIS & Uis a9 | TP &I ad- A, I 5% BT GATHT
U, AfBT gAR B a1 | 5% DI g DI | Fot Fars 3 foam ary sryan g gs2

1. No profit, no loss / AT ¢TH, AT _EiTﬁ
2. 0.5% profit/ 0.5% <TH
3. 0.25% loss / 0.25% BT

4, 0.25% profit / 0.25% ¢TYH

Correct Answer :-



e 0.25% loss / 0.25% BT

17) The average height of three students A, B and C is 148 cm. If the average height of A and B is 142
cm and that of B and C is 145 cm, then the height of Bis: / A, B TUT C B 3Hd &aTs 148 A g1 Al
A Td B B 3NTd HATS 142 A 9UT B TG C B 145 AH 8, Y B B SIS ©:

1. 144 cm
2. 140 cm
3. 130 cm

4. 150 cm

Correct Answer :-

18) The average of 25 items is 30. The average of first 12 item is 20 and the average of last 12 items is 25.
Find the value of 13™ item. / 25 TXG3HT BT 3T 30 T 1 TUH 12 TEI3N BT 37T 20 B 7T 3w 12
aegal o1 ofd 25 71 137 avg T g Fra BRI

1. 215
2. 200
3.210

4. 205

Correct Answer :-
e 210

19) The average of 6 results is 8. The average of first 2 is 7.5. What is the average of the remaining four?

/ 6 UFROITHY 1 3N 8 1 Ugd 2 FT 3d 7.5 B 1 A IR BT 3iId 1 82
1.6.25
2.8.25
3.4.25

4.5.25

Correct Answer :-

e 8.25



20) The ages of Bharathi and Geetha are in the ratio of 3 : 5. After ten years, if the ratio of their ages
become 2 : 3, then the present age of Bharathi is / HIRdl Td ItaT &1 ST ST ATUId 3 : 5 glcaau &
e, Tfe IAPT 3T BT 3T 2 : 3 T SATGT €, A YRl BT qoq Mg B

1. 30 years / 30 Gl
2. 35 years /35 CL
3. 25 years / 25 Gl

4. 20 years / 20 Gl

Correct Answer :-

e 30 years/ 30 Gl

21) A and B participate in a 1 km race. The ratio of their speeds 9 : 10. A is given a handicap of 100
meters. What will be the distance between the two when the winner breasts the tape? / A d4T B 1 fit
S5 T YNT A § | 37! Tl BT SFUTT 9 : 10 81 A B 100 Hiex &1 v aren § i 81 99 fasar 2w
| dIsdl 8, a9 31 & St B g T gnile

1.20 m /20 HleX
2.15m/ 15 Hiex
3.0m/0HlcR

4.10m/ 10 HIcR

Correct Answer :-

e 0m/0HR

22) Find the length of the arc that subtends an angle of 120 degree at the center of a circle of radius

14cm.él4ﬁﬁwmﬁwﬁ%wmaﬂmmﬁa’r%—gw 120 f&H &1 T B Siafea
FHAT B

1. 132 cm/ 132 9
2.29.33 cm/29.33 IHI
3.98 cm / 98 THT

4. 44 cm / 44 T

Correct Answer :-

e 2933 cm/29.33 QA



If 9 workers are required to make 27 tables in 12 days, then how many workers will be required to make

16 tables in 16 days? / afe 12 fe=Y # 27 39a F911 & for€ 9 4f¥w) B} smazgwar gl 8, a 16 e &
16 ¢ 991 & fore foramt il &t smaxgdar gift?

1.4
2. 16
3.12

4.8

Correct Answer :-

24) If 20 cows eat 380 bales of hay in 15 days; then, how many bales of hay will 15 cows eat in 10 days? /

gfe 20 TR 15 fA A 380 U FY wofear @it §; @t 15 TR 10 A A fpa=it ur o) wefar @rdt:
1. 190
2.210
3. 320

4. 165

Correct Answer :-

e 190

25) Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ T4 33 T R val § 9 R 33 1 ud & St aaE 914 91 U@ T8 82

Joanne
25-35 Boab Place,

2170 Liverpool, Australia
(i) Joanne
25-35 Boab Place,

2170 Liverpool, Australia

(ii) Joanne



25-35 Boab Place,

2170 Liverpool, Australia

(iii) Joanne
25-35 Boab Place,

2170 Liverpool, Australia

(iv) Joonne
25-35 Boab Place,
2170 Liverpool, Australia

1. iii

Correct Answer :-

o iv

26) Find the average. / 3Ngd fAeiferd |
44,91, 11, 55, 66 & 39

1. 51

2.54

3.45

4. 49

Correct Answer :-

27) What is the time taken by two trains of lengths 100 m and 200 m, moving in opposite directions with

speeds of 100 kms and 80 kms to pass each other? / 100 Hiez 3R 200 ﬁaﬁmaﬁvﬁa’raﬁ 100 fodt
3R 80 fpeiifier 1 THR A TP g &) UR 31 $ forg faudia fezn & = 781 € =1 & g Rran
T 9 A DY |

1. 7sec/7 AHS



2.8 sec /8 UHS
3. 6sec/6 DS
4. 5sec/5 AhS

Correct Answer :-

. 6sec/6TPS

28) Which of the following pair has the same ratio as 1180 : 1652? / Fafafea 9 9 o \_rﬁ?ﬂ DT AJurd
1180 : 1652 & HA g2

1. 875 : 1400
2. 1260 : 900
3.625:875

4. 900 : 1200

Correct Answer :-

e 625:875

29) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: / 12 & T mﬁ, 3R 3R T@3ii 31 UP A Ffgd &1 Terd "9+ ugane:
i.bhyi030200hyibo

ii.bhyio30200hyibo

iii.bhyio30200byibo

iv.bhyio30200hyibo

1. iii

Correct Answer :-

e i

30) What will be the last digit, when you expand 825/ ST 3{Tq 825 T fawaR 31, at Sifed 3ies a1 g2

1.4



2.6
3.1

4.8

Correct Answer :-

Topic:- Science and Simple Arithmetic

1) If £A = 60,then £BOC = ./ £A=60%,dt LBOC =

A

e

B
1. 100°
2. 120°
3. 80°

4. 60°

Correct Answer :-

e 120°

2) g* ¥V xa¥~Z X ai ¥ =

4.1

Correct Answer :-



In the diagram two parallel lines are intersected by a transversal. f 21— 22=30°

then 22=___ ./ fau aw &7 #, g7 TACK W@ Ue fode W g@rT gfaesied & o W &1 afe
£1—£2=30°AT22=___

/
/

7

1 2

o

1.85

o

2. 80

o

3.75

o

4. 60

Correct Answer :-

o

e 75

4 - - - -
) If /1764= 42, then 4/0.1764 = A ?Tﬁ'{ 4 1764= 42, ar 401764 =

1.4.2
2.0.042
3.42

4. 0.42

Correct Answer :-

e« 042

5
) Ifx+£=5Jthenx:+iz= ! ?J'ﬁ:x+i=5,a’l'x:+i5=
&£ £ £ &

1.25
2.23

3.27



4. 32

Correct Answer :-

1.0.14
2.0.014
3.14

4. 1414

Correct Answer :-

e 14

7) Fresh milk has a pH of 6, as it turns into curd the pH will: / ?ﬂﬁ QUPIpH 6 E-HT %, aﬁ ?’f dg
<8l o ufkafdd gim, af $9®T pH B SITe:

1. Not be measured / HTUT g1 ST Febell
2. Not change / gfeafedd Tl E;TJT[

3. Decrease / &H BT

4. Increase / Q'@ BT

Correct Answer :-
e Decrease / hH él‘ I

8) If the volume of a cube is 125 cu m, then what is its total surface area? / gfe U Y BT TId 125

T 1. B, 9 SUPT oo YSS 1T AABA T g2
1. 180 sq cm / 180 I T,
2. 150 sq cm / 150 &1 T,
3. 300 sq cm / 300 T T,

4. 120 sqcm/ 120 it o,

Correct Answer :-

e 150sqecm/ 150 af 3.



9) If three observations are 80, 82, and 70, and the fourth one is twice the fifth observation, and its
average is given as 95, then the two observations are: /'Clﬁ Gik| ﬁr&rur 80, 82, T 70 % 3R T’-ﬁﬁﬂ, qied
W&IUT T SR[AT 8, 3R TP 3N 95 faar 8, ot ) Uerur A= &

1. 82 and 164 /82 3R 164
2. 72 and 144 /72 3R 144
3. 80 and 160/ 80 3N 160

4. 81 and 162 /81 3R 162

Correct Answer :-
« 81and 162 /81 3R 162

10) What sum of money will amount to Rs. 2508.80 at 12% p. a. compounded annually in two year of

time? / fHa=T YFRTRAT 12% aIfie Thgfes A B GX W 2 a9 @1 3rafy & 2508.80 T g wT@f}?
1. Rs. 2400 / 2400 S0
2. Rs. 4000 / 4000 3T
3. Rs. 2000 / 2000 39

4. Rs. 3200 / 3200 3T

Correct Answer :-
« Rs. 2000 /2000 39T

11) The area of a parallelogram with base 8 cm and the distance between the parallel sides = Scm, is: /

%mmiaﬁrg'ﬂﬁraﬂaawﬁw%,mmmsﬁ.%eﬁ?mmweﬁ%nwaﬁgﬂsﬁ.

1.22sq cm /22 9 9.
2.20sq cm /20 37 Tt
3.40sq cm /40 G I,
4.42 sq cm / 42 3 9T

Correct Answer :-

e 40 sq cm /40 T I,

12) By selling a bicycle for Rs. 819, Vinay loses 9%. At what rate should he sell it to make a profit of

5%? / faTa &Y 819 TUA F} ATSfPHa 391 W 9% Ufa=d 1T glaT 81 98 39 FPT g w R fr



I 5% BT ATH GI?
1. Rs. 965 /965 344
2. Rs. 945 /945 300
3. Rs. 900 /900 3T

4. Rs. 968 /968 TUY

Correct Answer :-

e Rs. 945/945 300

13) The bending of light rays when they travel from one medium to other medium is called

) T TTRT &Y FohROY T T @ g W § AR AR &, A ST qe T weawil
1. Reflection / TRTATH

2. Polarization / §dUT

3. Interference / SATABRUT

4. Refraction / 39dd

Correct Answer :-

e Refraction/ \?r{tla_ch

14) Which of the following statement is incorrect regarding friction? /oy & Hed | Fafafea A a
DI ° HY TAd 82

1. Tt is caused by the interlocking of the irregularities on the surfaces / g gl R AFardrsti & sid-dea &

HRU G 3|

2. It is caused by the force of adhesion between the surfaces / g ﬂﬁ@f & ST RIS §A B BRI G\Idl %l

3. It is a necessary evil / gg Udh H[ARYH Hﬁ'@%l

4. It does not cause wastage of energy / g Fll BT 3T e Bl 8

Correct Answer :-
« It does not cause wastage of energy / dg oIl BT UG BRG] %I

15) What does upper and lower layer of cells in leaves do? / afray § Sifrerel 1 St ok A dg
T B 2

1. All of the above / G'q'{iaﬁ qat
2. Regulate the water content only / % Sa 7En & i wRdd R



3. Protect the inner parts only / Rt 3fidRe Ul &1 gRé&m CRGIN
4. Exchange of gases only / Ryt 1} &1 fafmrg et %

Correct Answer :-

« All of the above / SUJad THt

16) What happens when unlike charges come together? / T Eﬁ?ﬂ % o9 faudta smawr Th ATy 3d %?
1. Always repel each other / SHRIT U GUR P Ul Hd & |
2. Always attract each other / Eﬁ?ﬂ W-@ﬂi’ P BN Hd %I

3. Can attract or repel depending on the quantity of charge / TR Dt HHT & YR TR ATH N a1 ufasiid
CRESEGE

4. Can attract or repel depending on the nature of material possessing the charge / TR G aTelt Jre bt

Tohfa & 3MYUR TR 3N ¥d a7 Ufdeid B Tbd 3|

Correct Answer :-

o Always attract each other / EﬁTﬂT W-@ﬂi’ P BN Hd %I

17) Ignition temperature of a substance is the WAL d an?f DT Ysdd- diu Eﬁ\"ﬂ %I

1. highest temperature produced on combustion of that substance / 39 T & g8 R IO S=ddH araHH
2. temperature at which a fuel becomes gas / dg dIUHIT Sld g‘EFT A & ST %

3. minimum temperature required for combustion of that substance / 39 et & ggd & fore siawus
GAdH dTuHT

4. average temperature produced on combustion of that substance / 39 e & g W I 3d
GIEEIG

Correct Answer :-

» minimum temperature required for combustion of that substance / 39 et & ggd & fore Siawgs
GAdH dTuHT

18) Size of cells are measured in . | PIRABT3N BT W,_ﬁ HIYT SITdT %
1. Millimetre / ffrefiHteR

2. Centimetre / GHIER

3. Metre / HIcR

4. Microns / HIS®IA



Correct Answer :-

« Microns / ATShIA

19) The strength of the magnetic field due to a solenoid can be increased by: / URATI®T & HRUT

TP &7 B fed | e & gR1 gfg B o Fobel 8

1. By winding solenoid on a plastic rode / RARIST Bl Wiked Bl BS W U IRD

2. Decreasing the current strength in the solenoid / gfeAferest & orT g § S e

3. Decreasing the number of turns of the solenoid / URFTCTHT & ‘EP:I'ITJﬁ DI TAT H HH! HRb
4. Increasing the number of turns of the solenoid / BIEGINEICS ‘QTI'ITJﬁ Dt T H Q'@ PR

Correct Answer :-

e Increasing the number of turns of the solenoid / BIESINEIE:D ‘qm?:ﬁ CARSIC Ka| Q'@ PRD

20) Find out the mismatched set of muscle features. / uxft &1 faRivarsi & avd qHqg &I ﬁﬂ%ﬁ Gl
1. Skeletal — voluntary / HHTd — UfFH

2. Skeletal — striped / ST — TSGR

3. Smooth — unstriped / for@! — fo1 UgIgR

4. Smooth — voluntary / ferept - m

Correct Answer :-

» Smooth — voluntary / feret - U

21) Name the longest cell in human. / HIF9d T qaY Gl HIRSBT BT A a?n?,ﬁ |
1. Nerve cell / AT HIRIBTY

2. Muscle cell / TR HIfRAbTT

3. Hair cell / ﬁq W

4. Mycoplasma / WWG:IT

Correct Answer :-

« Nerve cell / dFamT m

22) 1f the polynomial 2x% + 5% + 3 ig divided with * T 1), the remainder is: | afe ague
2% + 55+ 3y (0 + 1)  Rywarfore R wimg, A S vt g



1.0
2.5
3.3

4.2

Correct Answer :-

23) If the angles of a quadrilateral are in the ratio 2:4: 5:7, then the largest angle is: / afe T& ilﬁ’{-ITrl' & BT

2:4:5:7 % 3JUTA A ¢, A YN TS P11 T ATY Fr ghm:
1. 40
2. 100
3. 145

4. 140

Correct Answer :-

24) In a rhombus ABCD, if AC = 12 cm, BD = 16 cm, then AB =

gfe AC = 12 T}, BD = 16 ¥}, @} AB = .

1. 12 cm/ 12 9H

2. IOCm/IOﬁﬁﬁ
3.15cm/ 15 99

4. 14 cm / 14 9H

Correct Answer :-

« 10cm/ 10 99

25) Spirogyra : multicellular alga :: : unicellular alga

/| TGRSR SEPIRPAAGTd:: . : USRI [Aard
1. Chlamydomonas / FAMSIHAN

2. Porphyra / tIV'ITCETS’QT

3. Ulothrix / gl




4. Sargassum / IRIH

Correct Answer :-

e Chlamydomonas / FafremA™

26) Plastics are very useful and extensively used these days because they are:

| wRed 9gd Syt 8 3R 39 foA sarue U & UM &t et § Fifd a:
1. Light weight and strong / oI H geab! 3R ASgd &Il g
2. Good absorbents of water / STd ] 33| RN fﬁ?‘ﬁ%l

3. Good conductors of heat and electricity / ISAT 3R fagad &1 FATd® gichl ¢ |
4. Chemically reactive / TaTgd: ifiiferar 2fia gt 8

Correct Answer :-

o Light weight and strong / IS i Sc'd’;\l G'ﬁT Holdd Eﬁ?‘ﬁ%l

27) golve: 2r +43) =2(3x +4) / S(x +43) =2(3x +4) ) 7 S

1. 217
2. 107
3.207

4. 197

Correct Answer :-
e 207

28) In our country, vast tracts of forests are cleared and a single species of plant is cultivated. This

practice promotes: /swﬁ%wﬁ,aﬁ%wmnﬂm?ﬁmﬁqwaﬁ?ﬁtﬁaﬁwwﬁﬁ@?ﬁ
P TS| T AU 3 UG BT 8:

1. Monoculture in the area / ?.’33[ i Uhd ?ﬁf

2. Preserves the natural ecosystem in the area / &3 H UIdfad UIRFRUTADT o BT TREf0T
3. Biodiversity in the area / &3 ® Siafaferdr

4. Growth of natural forest / Wdbfdd a1 &I fdbTy

Correct Answer :-

« Monoculture in the area / &3 H Uhd Q'TI'ET



29) The structures that increase the surface area of exchange of gases in the body are

. / TS S TRR # A9 F Ay & gedta eawd &1 9 €, gl
1. Bronchioles/mﬁmﬁ
2. Alveoli / 0T (Tfeaaran)

3. Lungs / PUpY (SIH)
4. Trachea / PGl RE ]

Correct Answer :-

« Alveoli / B0 (Tfcaara)

30) The term ‘semi-permeable’ is used for: / Uq '3ref TR Eﬂ%? ﬁl’l;’ IUYRT fHar Srar %:
1. Cell wall / BITRIepT-fHfc

2. Cell membrane / m %I('—Q‘ﬂ

3. Mitochondria / q@mﬂ[

4. Lysosomes SIERSIRIL

Correct Answer :-

« Cell membrane / BB %Ic'_vﬁ



